Correct Prediction Example

If a monkey, a squirrel, and a bird Key
are racing to the top of a coconut Correct
tree, who will get the banana first?
Incorrect
\ 4 L4 L4 v
[ The squirrel. ] [ The monkey. ] [ The bird. ] None of above.

\ 4

The best answer is "None of above" because the question is
designed to be a trick question - coconuts, not bananas, grow on

coconut trees. Therefore, none of the animals would be able to get a

banana from a coconut tree. The question is intended to challenge
the reader's assumptions and make them consider alternative
possibilities.

Incorrect Prediction Example

Who will grab the banana first if a
monkey, a squirrel, and a bird race
to the top of a coconut tree?

‘ Thevbird. ’ [ The s;uirrel. ] [ The m:)nkey. ] None o:above.
\ 4

that can fly.

Step 2: The monkey and squirrel would have to climb the tree, but the
bird could fly directly to the top.

Step 3: Therefore, the bird would be the first to reach the top of the
coconut tree to grab the banana.

er 4: So, the best answer is "The bird."

/gep 1: Consider the nature of each animal. Birds are the only ones \

/





 
   
     
       
         
         
         
           
             
               
               
            
          
        
         
           
        
         
           
        
         
           
             
               
               
            
          
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
             
               
               
            
          
        
         
           
        
         
           
        
         
           
             
               
               
            
          
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
         
           
        
      
    
  


